Diffraction_alt_rows: X-ray beam striking straight vs. bent vs. staggered rows of 11 points

L . 2.1 . L 2 2
Time: t := FRAME Angle: @, = FRAME.% Radius Function: j&(xo,yo,x,y) = \/(XO - x) + (yo - y)
X-ray Beam (rotatable row of circular wave sources): Xty = —100-sin(6x) Yeir = 100-005(9)() A=10 w=1 k= 2% Vi= %
10 (:os(k~R(xCtr + 5~i~cos(6x),yctr + 5~i~sin(9x),x,y) - w~t)
Xray(x,y,t) :=
Y(x.y.9) Z R(Xctr + 5'i'C05(9x)’yctr + 5~i~sin(6x),x,y) +1 Xraypow(X,Y) == Xray(x,y,t)
i=-10
1
Xray[xd,yd,t - (V)-R(xd,yd,x,y)}
Diffracting Single Point: D(xd,yd,x,y,t) =
R(Xg:Yg-x.y) + 1
5
Diffracting Straight Row: Dstraight_total(x’y’t) = Z D(5:,0,x,y,t) Dstraight_now(x’y) = Dstraight_total(x’y’t)
j=-5
0 5
Diffracting Bent Row: Dbent_total(x’y’t) = Z D(5j,0,x,y,t) + Z D(5j,5],X,Y,t) Dbent_now(x’y) = Dbent_total(x’y’t)
5 .
i i . — ; ] —
Diffracting Staggered Row: Dstaggered_total(x’y’t) = Z D[s.] ,1-(-1) ,x,y,t} Dstaggered_now(x’y) = Dstaggered_total(x’y’t)

j=-5



Incoming X-ray: Diffraction from Straight Row: From Bent Row:: From Staggered Row:
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